FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

N FEREZ
=% 15 #H mEg N2 —I— 1+ S# (100cmpESE)
JEfGL | HHE EFL B4 T B A L A | BERA (44 LBE|RRES [=Xiva fwZE
1 2 BB K& I LT7RIS—=T) BIEREE SR EMTER 63. 54 7 0 0 60 1
2 3 B4 JIILTT=— B E PR e B AT 30 74. 01 5 1 1 54 2
3 1 PoEE D JISYZ—) B EE SR EMTER 46.12 5 1 0 53 3
NXFEREZ -
£ 15 FRi% mEE AU —I— b S#R (100cmpEE) —BHIS
W | e B moOR aqn |wemz| %% | 1L |msmex| mBu | we

1 BE #= HIISYTZ—)L |za—FUrEvssSTEERESHE oP




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

ARXFEREZ
% 14 5k PR A : nNoF—— Lk (80cmBEE)
Bt | % LS B4 R sqn |wemz| 55 | LS |ssex| B | w
1 6 A+ Ly FZTbo—)L B SR E R = R S 1T &B 61.58 6 0 0 59 1
2 4 Ak D FL—RFx—F BISR E PR = R BT AR 57. 21 6 0 0 55 2 R
3 3 BiE W& Ly FZTho—)L B SR E R m R ST &B 62. 91 6 1 0 55 3
1 FOBEEE JUL—RF¥—F |[z2-—FvrEyss572585%%[ 78.90 5 1 2 o4
5 i g fy THTHUT— |za—FVrevrss728:825|  76.08 6 0 2 50
2 AR #=E by T T T— RIS E R = R T AR 61. 62 5 2 0 47




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

NRFEREL -
E 14 5% A NvE—S— 1 L (80cmEEE) —fgHiB
g | BEF B4 OB sqn |wemz| 55 | LS |ssex| B | w
1 5 R X OA—RKAEHR |[7owa~oFqsoavhryd|  64.42 6 0 0 61 1
2 7 =% EF K= )L TIRARYTFAavhLyY|  60.46 5 0 0 55 2
3 6 miE BEX IVRA VNI b | 7zwarsFavavhL Y| 66.53 5 0 0 51 3
1 HAr Bt JUL—RF¥—F |za-7vrevsssrzssmess|  71.53 8 0 1 63 OP
2 = B by TATHUT— [za—Furevsssrzgsari|  60.41 7 0 0 61 oP
3 HFHL &8 LY RFIrT—IL |T7ZwRSTFAavhLyP|  63.88 7 0 0 62 OP
4 RE #E HILSYZ—IL | Za—FUrevsrsTREREYHR|  67.56 5 0 0 59 OoP




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

AHXFEREFZ

% 13 ik g N F—2—F N#k (60cmBEE)
B | B2 g moE sqn |woemz| §5 | LS |ssex| ma | we
1 8 B = INS—2N)L FIIREZ A R— YD EH 68. 62 6 0 0 58 1 EETEON
2 1 EE OBt AT 1n—5 P EREEH 63. 91 6 0 0 58 2 BS54 1
3 3 B s IS— 8L FERESER 54.34 6 0 0 58 3 BAES A L

2 R =W S LR BB A R—Y LER 75. 54 6 0 0 55 N

4 #A o= Fy TETHUT— A R E R S 4 S T D 62. 43 6 0 1 55

7 RS IS Sv FILEEESRAR— YD EM 82.14 5 0 0 50

6 Ry Eth AILT4N—7 Sa—FYYEvI IS TEERESH| 66.16 4 0 3 M

5 FE % NSVARINS R ER SR E T NS




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

NRFEREL -
E 13 #i#k g N8 —S—k N (60emEE) —fgHiB
B | B2 BIA R sqn |woemz| §5 | LS |ssex| ma | we
1 1 BRE B JL7—4 —a—FUrEvs IS IEERERHE| 6449 7 0 0 61 1
2 4 M mx IL7—4 —a—FYrEvs oS IEERESH|  70.49 5 0 0 50 2
3 5 RE PR TS LTAYYL [za—HUrEvsssTIERERHR| 112.65 6 8 2 48 3
3 NR & PSR EHAT Sa—AUVEYI IS TEEREER|  T12.14 6 0 0 56 oP
2 N# &+ SRk Sa—FYVEVI I ST TEERESK E




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

NXFEREFZ
% 13 35t BHE . NVE—L— b N (60cmREE) —RHIBAVC
W | EL BEE R sqn |wemz| 55 | LS |ssex| B | w
1 1 iE BX IHRANY b+ TFZINUMRDSTFALavhbyY 90. 62 5 2 2 47 1




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

NXFEREFZ
B 2EH BHE Nv8—U—F HORS—
B | BE% BIA R sqn | wame| BE | UL |\mkes| Bh | e
1 1 Wi ME v Sa—FYLEVI IS TEERESR|  76.91 7 0 0 58 1
2 3 EE NFTTv—0O BRERS R EHE 86. 69 5 1 0 44 2
2 B OB S8y b EEE () BT 3
NXFEREFZ
% 12 B BHE  NUE—Y—F HORN— —fEHE
B | HE REA B4 R sqn | wame| BE | UL |\mkes| mBh | e
1 2 = fton PSR MLAH —a—FYYEvs oS ITEEREE[  78.70 7 0 0 62 1

2 1 X BE FSRAKLAA —a—FYLEvsISTEERESK| 68.34 7 0 0 61 2




FER : 2025/8/10 TREHEESR

Keg o 2025F— ISR A —T PartlV

N FEREZ
] 11wk BREZ : NnUA—S—F K FH—K
B | B REA B4 R sqn | wame| BE | UL |\mkes| Bh | e
1 3 T N\FR TYIRT T oY — za—Fyrevsssizsagass| 7644 7 0 0 61 1
2 2 B HE </NA —a—AYLEYHsISTEERESRK| 65.46 6 0 0 58 2
3 1 MK TEUTATT ETE (%) EfiiEp 79. 15 5 0 0 46 3
NRFEREZ
] 11 38 BEE N\VA—S— b mEEBAK TZEBH
WEf | EEL BIEA OB aqL |wame| 2R | AL Imwes| Bh | @
1 4 fiE S06 </\nA BEEEEESREMTER 91.23 7 0 56 1
2 1 BERE HMDZ TYUIRT 7Y —|za—FyvEevsssizsEgEst| 9498 6 1 52 2
3 2 TEB MBAX T hZUX —a—FULEYHISTEERESK|  96.92 5 0 48 3
3 hAt AR TEUTFATT =8 () EiTER 147. 62 5 0 47




	JUmp

